Mnowaab NOKpbITUA

0,399 m*

Ob6bem getanu 0,01 17 M3

Mnowaanb NPUKIENKN

0,130 m*

KonnyecTtBo MYINbTULLNNOB

2 LWT.
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Mnowaab NOKpbITUA

0,499 m*

Ob6bem getanu 0,01 46 M3

Mnowaanb NPUKIENKN

0,162 m?

KonnyecTtBo MYINbTULLNNOB

2 LWT.
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Mnowagb NOKpbITUS 0,228 M2 Ob6bem getanu 0,0065 M3

Mnowage npuknekn| 0,072 M?  |Konu4ecTBo MynbTULLMNOB

1,5 Wwr.
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[Nosic 80, neBbin yron 90 cm
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Mnowagb NOKpbITUS 0,228 M2 Ob6bem getanu 0,0065 M3

Mnowage npuknekn| 0,072 M?  |Konu4ecTBo MynbTULLMNOB

1,5 Wwr.
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[Mosic 80, npaBbin yron 90 cm
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Mnowaab NOKpbITUA

0,308 m*

Ob6bem getanu

0,0088 m°

Mnowaanb NPUKIENKN

0,098 M?  |Konuuectso mynbTvwmnos| 2 LLIT.
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Mnowaab NOKpbITUA

0,308 m*

Ob6bem getanu

0,0088 m°

Mnowags npuknerikn| 0,098 M?  |[Konuuecteo mynbTiwmnos| 2 LUT.
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